Section B
1. Birmingham has a population of over 1.1 million. Use a dictionary to find the
meaning of ‘population’.
2. Why do the children say they must hit the person ‘below the knee’ when they play
dodge ball?
3. What are the rules of dodge ball at St. Martin’s Primary School?

4. What does the word ‘opposing’ mean when referring to two opposing teams?
5. Which of the three schools is most like your school? Explain your answer.

6. Which of the three places would you like to live in? Explain your answer.
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Tick the correct answer.
Jason’s favourite playground game is:
	dodgeball
	
	football
	
	baseball
	
	netball


The population of Wilmslow, Cheshire is:

	250,000
	
	2,500
	
	25,000
	
	2,500,000


How old are some of the playground rhymes played at Clarissa’s school?

	50 years
	
	75 years
	
	1000 years
	
	100 years


Whitsham is located 7 miles in which direction of King’s Lynn?

	north
	
	north east
	
	north west
	
	south east


What is the entertainment centre called where Antoni and his school friends play?

	Star City
	
	Star Village
	
	Star Town
	
	Star Zone




D: (Q7) Birmingham has a population of over 1.1 million. Use a dictionary to find the meaning of ‘population’. The number of people who live in a particular place.

D: (Q8) Why do the children say they must hit the person ‘below the knee’ when they play dodge ball? So that the children are not hurt.

D: (Q9) What are the rules of dodge ball at St. Martin’s Primary School? You have to try to hit the other players below the knee with the ball. If you are hit, then you are out of the game. The last one out is the winner.
D: (Q10) What does the word ‘opposing’ mean when referring to two opposing teams? Two teams in competition with each other.

D: (Q11) Which of the three schools is most like your school? Explain your answer. Personal response. Answers must refer to the text.

D: (Q12) Which of the three places would you like to live in? Explain your answer. Personal response.
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